No. Items Score
1. | Fill in the boxes with two consecutive integers, so that the statement becomes true. Ll
3 0|0
<V-17 < 111
2 |2
2. | Consider the function f: [O;%] - R, f(x) = cosx. L|L
Fill in the box with one of the expressions “monotonically decreasing” or “monotonically 010
increasing”, so that the statement becomes true. 2|2
“The function f is
3. | On the picture the right circular cone with the Ll
altitude VO = 6 cm s represented. The cone is cut olo
by a plane parallel to the base at the distance of
2 |2
2 cm from the vertex V.
Write in the box the length of the radius of the
circle from the cross-section, if it is known that the
length of the radius from the base is equal to
15 cm.
0131 == cm.
4, 1
Calculate the value of the expression log, 5 + 21log:1 20 + 32s. L|L
Solution: * 019
olution: 111
2 |2
313
4| 4
Answer:
. . 3+i)2 . N
> Consider z = ( ;l) , Where i = —1. Determine Z.
Solution:

Answer:

ab~,wNDEFL O
abr~,wNDEFL, O




ea\ X—4 9 \6+x
Solve in the set R the inequality (—) > (—) . LiL
27 16 0 0
Solution: 111
2|2
313
4 | 4
515

Answer:
Consider the regular square pyramid VABCD, Ll
where VAC is a right-angled triangle with the legs 0o
of 6 cm. Determine the volume of the pyramid. 111
Solution: 2 |2
313
4 14
515
6 |6

Answer:




Consider the function f: (0; +) - R, f(x) =Ilnx + i Determine the intervals | | | L
of monotonicity of the function f. 010
Solution: 111
2 |2
313
4 14
515
6 |6
Answer:
In a jar there are 5 white, 4 red and one black balls. Five balls are taken at random. Ll
Determine the probability that balls of all three colors are taken. 0l o
Solution: 111
2|2
313
4| 4
5|5

Answer:




10.

Consider the parallelogram ABCD, where AB = 13 cm, BD = 16 cm and O is the point
of intersection of the diagonals. Determine the perimeter of the parallelogram ABCD, if
m(2AOB) = 60°.

Solution:

B C

Answer:

o wWNRr O™

CURWNRER O™




11.

Consider the functions f, g:[0; +00) = R, f(x) =vx, g(x) = 2 — x. Determine
the numerical value of the area of the region bounded by the graphs of the functions f and
g, and by the Oy — axis.

Solution:

Answer:

o wWNRr O™

CURWNRER O™

12.

Determine the real values of a, such that the equation |x? + 3a — 2| = a has 3 real
solutions.

Solution:

Answer:

COURWNRFR O

COCURNRWNR O




Annex
log, b +log, c =log,(b-c), a € Ry \ {1}, b,c € R}
log, b —log, c = logag, a € Ry \ {1}, b,c e R}
log, b€ =clog, b, a e R\ {1}, bE R}, cER
loggc b =%logab, a€R\{1}, bER,,c#0

n!

m______ <m<
Cn m!(n —m)!’ Osmsn
(x*) = a x*71, a €R
(nx)' =~
nx)’ =

xa+1
Tdx = C, eR\{-1
fx X a+1+ a \ {—1}

c?=a?+b?>—2abcosg

vpyramid = §Uqb "H



